
Manual Clamp   Spare Part List MK 50.1  
 

Subject to technical modifications. 10.08.2015 BR2 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

Spare Parts    
 

Pos. Part no. Quantity Description Type Flag
1
 

10 253542 1.00 housing complete MK 50.1 BR2  

30 207323 1.00 lid MK 50.1  

40 231181 1.00 fork complete MK 50.1  

60 202806 1.00 bolt switch lever K 50 Z  

70  1.00 fork shaped clamp arm see separate list  

80 354179 1.00 strap  MK 50.1 R 

90 202603 1.00 bolt FKSI 50, Ø 11,95 x 35,00 R 

100 202604 1.00 bolt                        FKSI 50, Ø 11,95 x 19,50 R 

110 203193 1.00 bolt                    K 50 R 

120 206399 2.00 roller complete FKSI 50 R 

130  1.00 buffer depending on opening angle  

150 216950 2.00 supporting plate complete KU 50  

170 202778 1.00 bolt K 50 Z, Ø 8,00 x 13,00 R 

180 225930 2.00 needle bush 25,0 x 32 x 12 R 

200 207321 1.00 bolt MK 50.1 R 

210 207320 2.00 roller MK 50.1 R 

220 233139 1.00 clamping piece MK 50.1  

230 200166 1.00 hex. socket head cap screw M 6 x 12 DIN 912  

330 200182 4.00 hex. socket head cap screw M 6 x 50 DIN 912  

340 200976 6.00 securing spring washer S 6  

360 201140 1.00 dowel pin 3,0 x 24 DIN 1481 R 

390 200612 1.00 set screw M 4 x 6 DIN 915 R 

450 205249 2.00 roller K 50 Z R 

460 216955 1.00 carrier complete K 50 Z  

470 218625 1.00 handle bar complete MK 63 S  

490 201583 2.00 bush 12,0/14 x 15,0 DIN 17662 R 
      

spare parts sets / accessories   

Pos. Part-No. Quantity Description Type  

 286034 1.00 repair kit MK 50.1  

500 214092 1.00 limit switch set complete K 50 T12  

  
                                            
1
 R = included with repair kit 



Manual Clamp   Clamp arms MK 50.1  
 

Subject to technical modifications. 10.08.2015 BR2 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

Spare Parts    
 

 

      

Pos. Part no. Quantity Description Type  

 216884 1.00 Clamp arm complete K 50 A10  

 216886          1.00 Clamp arm complete K 50 A11/K2 50 A12  

 216890          1.00 Clamp arm complete K 50 A12/K2 50 A11  

 242838 1.00 Clamp arm complete K 50 A40  

 245811 1.00 Clamp arm complete K 50 A41/K2 50 A42  

 245812 1.00 Clamp arm complete K 50 A42/K2 50 A41  



Manual Clamp   Spare Part List MK 63.1  
 

Subject to technical modifications. 28.01.2014 BR2 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

Spare Parts    
 

Pos. Part no. Quantity Description Type Flag
2
 

10 257561 1.00 housing complete K 63 Z BR2 T12  

30 207333 1.00 lid MK 63.1  

40 231186 1.00 fork complete MK 63.1  

60 202805 1.00 bolt switch lever K 63 Z R 

70  1.00 fork shaped clamp arm see separate list 
depending on opening angle 
 

 

80 219839 1.00 strap complete V 63.1 R 

90 202608 1.00 bolt FKSI 63, Ø15,95 x 41 R 

100 202609 1.00 bolt                        FKSI 63, Ø15,95 x 24,5 R 

110 203236 1.00 bolt                    KV 63 R 

120 206404 2.00 roller complete FKSI 63 R 

130  1.00 buffer depending on opening angle 
 

 

150 216950 2.00 supporting plate complete KU 50  

170 202777 1.00 bolt K 63 Z, Ø 8,00 x 14,00 R 

180 225931 2.00 needle bush Ø30/37 x 12 R 

200 207330 1.00 bolt MK 63.1 R 

210 207331 2.00 roller K 50 Z R 

220 233139 1.00 clamping piece MK 50.1  

230 200166 1.00 hex. socket head cap 
screw 

M 6 x 12 DIN 912  

330 200181 4.00 hex. socket head cap 
screw 

M 6 x 45 DIN 912  

340 200976 5.00 securing spring washer S 6  

360 201143 1.00 dowel pin 3,0 x 28 DIN 1481 R 

390 200612 1.00 set screw M 4 x 6 DIN 915 R 

450 205249 2.00 roller K 50 Z R 

460 216955 1.00 carrier complete K 50 Z  

470 218625 1.00 handle bar complete MK 63 S  

490 201583 2.00 bush 12,0/14 x 15,0 DIN 17662 R 
      

spare parts sets / accessories   

Pos. Part no. Quantity Description Type  

 354134 1.00 Reparatursatz MK 63.1  

500 215229 1.00 Abfrageset kpl. K 63 T12  

                                            
2
 R = included with repair kit 



Manual Clamp   Clamp arms MK 63.1 
 

Subject to technical modifications. 28.01.2014 BR2 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

Spare Parts    
 

Pos. Part no. Quantity Description Type  

 217498 1.00 Clamp arm complete K 63 A10  

 217499 1.00 Clamp arm complete K 63 A11/K2 63 A12  

 217500 1.00 Clamp arm complete K 63 A12/K2 63 A11  

 242839 1.00 Clamp arm complete K 63 A40  

 245848 1.00 Clamp arm complete K 63 A41/K2 63 A42  

 245849 1.00 Clamp arm complete K 63 A42/K2 63 A41  



Manual Clamp   Spare Parts Drawing MK 50.1, 63.1  
 

Subject to technical modifications. 28.01.2014 BR2 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

 
 

   

180   

100   

110   
70   

170   
450   

460   470   

490   

60   
490   

120   

80   

390   

210   

10   

40   
200  

210   

120   

180   

450   

130   

30, 220, 230, 340   

330   

10   

90   

360   

340   

     
 

500 

150 


